Subject: log plot
Posted by Thibault Garel on Tue, 20 Oct 2009 13:49:17 GMT

View Forum Message <> Reply to Message

Hi,
i am making a plot as follows:
plot,x,y,psym=10,yr=[1.d-8,1.],/ylog

and the graduation does not appear on the y axis whereas it does when
i change the y range:

plot,x,y,psym=10,yr=[1.d-6,1.],/ylog
So, does anybody know how i can fix this? and for the first case, how
sould i read the y axis, thats to say even if the graduation does not

appear, is it still a log scaling?

Thanks a lot!
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